Note.  (Use if applicable.)
[image: image1.png]All ac voltages and currents are rms values unless noted

otherwise. For three-phase circuits, all voltages are line-to-line
voltages unless noted otherwise.




Question E2.
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A 300 hp, 500 V, 1750 rpm DC shunt motor, operating at rated conditions, has an efficiency
0£92.0 percent. The armature resistance is 0.042  and the field resistance s 86.2 . Draw
an equivalent circuit for the motor, and determine:

a. what percentage of the total losses are due to rotation losses;

b. the external resistance needed in series with the armature circuit to limit the starting
current to 225 percent of rated armature current on start-up; and,

c. the new speed if the flux is reduced by 10 percent and the shaft load is adjusted to
‘maintain rated armature current.




Formulae.  (Use if applicable.)
[image: image3.png]Potentially useful formulae
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